SGJ] DAV SEN. SEC. PUBLIC SCHOOL, HARIPURA
Class - 9th
Date - 04.01.2025

Instructions: Dear children, The work which is being sent to you, it must be done in a fair
notebook and in beautiful handwriting. When the school will reopen this home work will be
checked. This work is given for revision purpose.

English

1. The following passage has not been edited.
There is one error in each line. Write the incorrect
word and the correction in the space provided
against the correct blank number:

I B Error Correction
When he was eighteen .

Velan left ° ©-g- 'S was
home. His father slap his (a)

face -

one day on coming late (b)

with the

in the presence of others

in a (c)

room. Velan glared on his (d)

father and left the place.

2. The following passage has not been edited.
There is one error in each line. Write the incorrect
word and the correction in the space provided

against the correct blank number: o o

Error Correction

Stirred by the smell of

eood e.g.| from by
the dog stands before the (a)

blind

man wagging his tail and (b)

gazing on

the bowl. A blind man ()

asked, “Who

is there?” At whom the
dog went up towards him |(d)
and licked his hand.
Hindi: Had-T1Raai Ud s

UY-3Y TR & I Td I Heddl 82
Uy-3ifed 31 18T b AW I HeR A [T USR o1 I iviareii o1 3R Tobd forar g2
UY-HER - 4R UG & fore fovr vrafera fayrat o1 ws fhar g2

Uy-fat +ft afaa & ugar SUS o T Bl § T1 3P HHIY? T Tfed IR |
Note-Tq0f ST 30T S TUR® YfKTerT IR Y forars H ford 3iR a1 Y |

Punjabi

YRS 1- yri € Hal fa= fHse 962

YAS 2- 8- 8¢ &J i fammar 231 it e g2




YA 4- ufgerat € a3 I Hds § 713 fa &lt37 7 Heler 32

Mathematics

1.If (3,2) is the solution of 3x-ky=5 then find the value of k.

2.Find the remainder on dividing 5y3-2y?-7y+1 by y-2.

3.Expand using suitable identity:(2x+y-z)?

4.In which quadrant and on which axis do each of the points (-2, 3), (5, 3), (-5, 6) and (-2, -7) lies?
5.Factorise: x3-3x%-9x-5.

6.1f x+y+z=0, Show that x>+y*+z*=3xyz.

7.Evaluate using suitable identity: (998)>.

8.Write four solutions of the linear equation: x=3y-7

Science

Q1.Explain why ozone is thermodynamically less stable than oxygen.

Q2.What organelle is the cell’s powerhouse? Why .

Q3 How is a prokaryotic cell different from a eukaryotic cell?

Q4.What happens to substances such as CO2 or water when moving in and out of a cell? Discuss.
Q5. Differentiate between chromatin and chromosome.

Social Studies

i. Two places A and B have been marked on
the given outline map of the world. Identify
them and write their correct names on the
lines drawn near them

A. North-Eastern region not affected by
the Great Fear.
B. An axis power

ii. On the outline map of India locate and label
ANY THREE of the following with suitable
Symbols.

a. The Vindhya - Mountain Range

b. Kanha - National Park

c. Dachigam - Wildlife Sanctuaries

d. The Krishna - The Peninsular rivers




